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& 216,342 208,842 7,500
o 13,150,229 18,390,990 A5, 240,761
563,981 586,523 N22,542
= 10,000 10,000 0
o 553,981 576,523 N22,542
SHAEM £ 468,940 475,600 A6,660
= 10,000 10,000 0
o 458,940 465,600 6,660
SHEAESFY 29 4,500 5,000 A500
201 LBEt2AY| 4,500 5,000 A500
02 B22&H| 4,500 5,000 A500
O222=2 2 HA 4,500 5,000 A500
—old =& AHAH(1582) 1,800 2,000 A 200
— o LA HAH2BE2) 1,350 1,500 A 150
—EUQAAHAI(I7E=Z) 1,350 1,500 A 150
XeolH & SABMIE/|S 29 12,140 13,600 A 1,460
201 LEt2AH| 7,040 7,600 560
01 AR 2t2ld] 5,040 5,600 A560
o289 5,040 5,600 A560
Qg A =2 5,100 6,000 A900
SHAIAH BAZ 5,100 6,000 A 900
O3 oA AZ 5,100 6,000 A 900
=83 ES X 112,300 102,000 10,300
et A | 10,300 2,000 8,300
01 AI22t2lb] 8,500 0 8,500
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Oedx= 500,000& x123] 6,000 0 6,000
2Z229H| 1,800 2,000 A200
oJIsdY K2 1,800,000& =104 &~ 1,800 2,000 A200
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AR ZAEH| 45,000 50,000 A5,000
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01 AMLSEHS 45,000 50,000 A5,000
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201 2Let29Y| 9,207 10,230 A1,023
01 AFR22/dl 2,079 2,310 A 231
OFI-IE=%.] 2,079 2,310 A231
—SANLREZ DA 2L 2,079 2,310 A231
02 B329Hl 7,128 7,920 AT
03322 2 HMAl 7,128 7,920 AT
—NIMEE RQES(HEI.S52)
2202 *8, 10021 %43 7,128 7,920 AT
A 2Al 2,500 4,500 A2,000
301 LBtEAS 2,500 4,500 A2,000
12 JIEt2 A2 2,500 4,500 A2,000
OWII=20t 100,000 524 500 1,000 A500
OFZ 20t 100,000 524 500 1,000 A500
ORSE:0t 100,000 x5 500 1,000 A500
OOt S A 220t 100,000 x524 500 1,000 A500
H3E HA 4,536 5,040 A504
201 ety 4,536 5,040 A504
01 AFR22/Hl 1,260 1,400 A 140
Oger24I(H HE A 2) 1,260 1,400 A 140
02 B2l 3,276 3,640 A 364
o=22g=2 ¢ Ha o2 25
SEZ) 22024 %2,70021 %4 3] 2,376 2,640 A 264
OANEZFHISXNE(FSX Z208 228 X)
225,000 *43] 900 1,000 A 100
NHSX BHEIA 2te 3,150 3,500 A350
201 ety 1,350 1,500 A150
02 329l 1,350 1,500 A 150
03322 < MAH(SHSIIH BZHA
675,000 x23] 1,350 1,500 A 150
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01 M=l 1,800 2,000 A 200
Ooad=d) FSM=z 78
18,000& x105+102! 1,800 2,000 A 200
AUSIIE 2el 1,834 2,038 2204
201 Let2I| 1,834 2,038 N 204
02 =234l 1,834 2,038 N 204
OUs0Is8Ald 712 =& 183,400& 1000 & 1,834 2,038 N204
XA 7,480 11,020 A3,540
201 EH2HH| 7,480 11,020 3,540
01 AtR22/Hl 3,060 3,400 A 340
Ot (AZ ALXIR) 100,000 *183! 1,800 2,000 A 200
Odxz (a2 BH3 E23 &#4A) 1,260 1,400 A 140
02 323l 4,420 7,620 A3,200
O =l 3,920 7,120 A3,200
—XNostsE 0 3,200 3,200
2$EE A2l 66,334 74,595 AN8,261
B3Zed ANEEd 50,349 57,945 AT,596
201 EH2HH| 20,694 22,995 A 2,301
01 AtR22/Hl 19,614 21,795 N2,181
Oget=gH| 17,389 19,570 A2,181
—Qloiot&d 23 MA 0 2,000 22,000
—MEZAHAH20ES) 270 351 281
—A858I| BEZM 0 50 A50
—dsSEHI| FEZM 0 50 A50
02 2323l 1,080 1,200 A120
OAN&ZHIS X 540,000& =23 1,080 1,200 2120
206 M=l 1,080 1,200 A 120
01 Mz bl 1,080 1,200 A 120
OSZLIEESE AZMHEI 2
270,000& 45 1,080 1,200 A120
207 A0 27,000 32,000 5,000
01 A& 27,000 30,000 /3,000
O2aHMelAlE e 2elfEe 9
27,000,000& * 14! 27,000 30,000 A3,000
03 A& A HI 0 2,000 A2,000
OHIIHAD| SZLLE=E STEE4A A A
] 0 2,000 22,000
301 LertEas 1,575 1,750 ATT5
12 JIEtEA S 1,575 1,750 A175
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201 Br24| 945 1,050 A 105
01 AtR22telyl 945 1,050 A 105
(Or=1=1:] 945 1,050 A 105
206 M= Hl 5,040 5,600 A 560
01 THZHl 5,040 5,600 560
O==Z22g% YNEH ¥ 257
1,260,000& 45 5,040 5,600 560
AoAsd 85 933,469 921,540 11,929
= 34,260 24,260 10,000
= 108,342 108,342 0
iy 790,867 788,938 1,929
O s - A2 2tel 119, 161 109, 781 9,380
= 34,260 24,260 10,000
== 28,342 28,342 0
iy 56,559 57,179 A620
Ofs= 25 5,580 6,200 A620
201 Et24d| 630 700 AT0
01 AP Zelbl 630 700 AT0
ORI4+-Y(HMS2 ToHE4 AoAs =4
=g) 630 700 AT0
206 i = Hl 4,950 5,500 AB50
01 MHZHl 4,950 5,500 550
OO0FMESZ H0IFI| HAF 675,000& *x23| 1,350 1,500 A 150
ORillz= & OS2 X2sE 7L
337,500 #43| 1,350 1,500 A 150
ORdlOtMsE ZaXJ He 2 2,250 2,500 A 250
AHAMEIOIE 28 SH X3 10,000 0 10,000
= 10,000 0 10,000
402 QI2tXH=01M 10,000 0 10,000
= 10,000 0 10,000
01 QIZEXE2E xR 10,000 0 10,000
OJIEMENOE &U2) & d2 =4
10,000,000 & *1JH & 10,000 0 10,000
= 10,000 0 10,000
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101 o1 21H| 54,315 52,239 2,076
10 JIZHHI2EANsSE s 54,315 52,239 2,076
OUHI MEi =& 22l 21| 54,315 52,239 2,076
—Al&d 222 22,791 21,910 881
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201 ety 74,808 83,120
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02 ZZSIH| 67,410 74,900
02222 2 MA 25,110 27,900
—®IDI2E L A2 1,260,000 123 15,120 16,800
—®D|orE el Y| 180,0002 123 2,160 2,400
— AHOIE AL 720,0002 *15] 720 800
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—®5R3 45,0008 125 540 600
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OAN& =YK Yl 450,0002 123 5,400 6,000
OXtg d ety 450,0002! 123 5,400 6,000
LIHI BN 22 Alg e 96,850 61,500
201 ety 5,000 0
01 At2elt| 5,000 0
OLHI4EZE |02 HX S 5,000 0
206 THZH 23,350 31,500
01 el 23,350 31,500
OZEAA %X 7 180,0002 %254 4,500 5,000
oz=&E7Y 4,500 5,000
OLHIME L E2ME M 2 1,350 1,500
Oslz, €, HIg, AzAag S 7Y 13,000 20,000
401 NEHIL 2O 68,500 30,000
01 A&l 68,500 30,000
OZEZ &3 28,500 30,000
OLIHIMEN B9 HE X4 40,000 0
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01 THEHI 11,700 13,000
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01 2+0] 2,700 3,000 A300
SEIEPIEES 2,700 3,000 A300
OLIHIAFS 50t XI& 180, 000! * 157} 2,700 3,000 A300
LT 52,250 55,000 A2,750
Al bl 52,250 55,000 £2,750
OAl&H 52,250 55,000 £2,750
— &) 4,750 5,000 £250
—R2I24(50%) 47,500,002 %15 47,500 50,000 A2,500
Ry 2Ea 14,745 16,050 A1,305
Neey 2Ee 6.745 8,050 A1,305
201 2sr2 | 4,545 5,050 A505
01 AL 22l 4,545 5,050 505
OYBLBH (472 BBARS Y435) 225 250 A25
OURB(NQSEH DRY +T AX)
216,000 * 1004 <23 4,320 4,800 2480
301 YsrE a3 2,200 3,000 A800
10 BAFAY| 243 2,200 3,000 2800
OXIBSHTNE BAMES B4
17,0002 *100% 1,700 2,000 A300
OXtISER DT HAX 24 100,0008 5 500 1,000 500
Iz I x4 - 29 504,600 525,600 £20,910
= 80,000 80,000 0
= 424,690 445,600 220,910
IEsIA 22 131,515 36,600 A5,085
201 2sr2 | 36,090 40,100 £4,010
01 At 22l 18,000 20,000 £2,000
SHIEES=1i] 18,000 20,000 A2,000
—BEHTA HIBY
35,0002 % 103] * 1074 13,500 15,000 A1,500
—BEHTA 24 100,008 27K A 2,700 3,000 £300
—OMT} Y OHAE FY) 90,0002 +207H 2 1,800 2,000 A200
02 2B Y| 18,090 20, 100 £2,010
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01 KL SEHSH| 6.750 7,500 AT50
O ELIN B 270,000 *5H 1,350 1,500 A150
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= 32,000 24,500 7,500
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BOI2X2 X 133,290 146,988 13,698
201 Yty 40,995 45,550 4,555
01 AtR 22t 40,995 45,550 A4,555
Oge2gH| 11,682 12,980 A 1,298
—DHER 2AA 222 36,0002 *1021 360 400 A40
— M| BB OB 90,0008 <204 A 1,800 2,000 A200
—MYD| W2 222 2,160 2,400 A240

—HIIS AIHER 40 R
45,0002 *300} 1,350 1,500 A150
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5,0002 *360CH 1,800 2,000 A200

—MYIBHED| LXHE 24
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—OCTVEHS S5 OHjT 90,0002 *4JH 2 360 400 A40
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— ot L9 22,5002 x26Y 585 650 AB5
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206 M= Hl 73,025 81,138 28,113
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—20¢ 622 x162,0000H 10,044 11,160 A1,116
—50¢ 1373 162, 00004 22,194 24,660 A2,466
—1004 256°& *7,2000H 1,844 2,048 N 204
—33E MHII=SE ME 137& *27,000 01 3,699 4,110 A4
O&azd 28 2L 270,000 *123] 3,240 3,600 A360
ONHEE dAME M3 7
5,000 #4521 %23 450 500 A50
ONeEE 2l 88 270,000 10K 2,700 3,000 A300
ONM&EHI s HMEE Jrtdaltt 2
31,500% * 100 3,150 3,500 A350
Oz =g 450,000 * 1504 6,750 7,500 AT50
OSA=2F HIl2 d8+HE)| #¢
45,0002 = 1004 4,500 5,000 2500
ONEE Zeldg B22 0FH(40kg)
402 *9,0000H 360 400 A40
ONEE ZldgE 222 0FCH(500ke)
5,000 *5400H 2,700 3,000 2300
ONMEES A=) HYE P2 50,0002 «54H 2,700 3,000 A300
OHHAX =HE 54,000 204 1,080 1,200 A120
OojdGtzgXxe #¢ 450,0002 *8H 3,600 4,000 2400
Ooas0l 2?2 2,000 *450H 900 1,000 A100
401 AlEHIZL 20 19,000 20,000 21,000
01 Al&HI 19,000 20,000 21,000
OMgJl BHEXIE "Clean Zone"AtS
9,500, 000% *2JH £ 19,000 20,000 21,000
405 Xt&bE SHI 270 300 A30
01 MHARESFSH 270 300 A30
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—1E8E ABAM VAL ADBA
36,0002 *103] 360 400 A4
—HOIZ BESI 2 A2AND By
36,0002 108l 360 400 A0
HUlE 42 52,500 45,000 7,500
= 19,500 12,000 7,500
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= 19,500 12,000 7,500
2 33,000 33,000 0
12 JER A3 52,500 45,000 7,500
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=MTlel FE FEHHL 2322 68,885 0 68,885
= 68,885 0 68,885
101 o121l 65,780 0 65,780
= 65,780 0 65,780
PR EES =TS 65,780 0 65,780
OLIET 837,0002 » 10 +6 2 50,220 0 50,220
= 50,220 0 50,220
ool 3,00021#102§ x2002 6,000 0 6,000
= 6,000 0 6,000
o4EEE 4,219 0 4,219
=2 4,219 0 4,219
o= 534, 1002 102 5,341 0 5,341
=2 5,341 0 5,341
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324,000 103 3,240 3,600 A360
02 329l 9,318 107,020 A 10,702
03322 < MAl 83,538 92,820 N9,282
—HEE ®IIe2 63,000 70,000 A7,000
—HAEIZE X 22)| I3
4,230,000 * 104 A 4,230 4,700 A4T0
—TIIHEHA 22 270,000 123 3,240 3,600 A360
—DHEE AIAEAHY Q2 144,000 %123 1,728 1,920 A192
e N == = 540,000 123 6,480 7,200 AT20
—SANERES 225,0008 x23] 450 500 A50
—ALHII2S HEH I3
108,000 123 1,296 1,440 N 144
—ALHII2 HEXH 323
27,0002 *123] 324 360 A36
—MHE2HLEE M3 2,790,000 «10H A 2,790 3,100 A310
OAMEHHIS X 12,780 14,200 A1,420
—&E&2 HelAlE S
2,700,000 * 14 A 2,700 3,000 A300
—HEX AS KXYl 900,000 *3H S 2,700 3,000 A300
—Ho|IS2a Mar2ely| 90,000 123 1,080 1,200 A 120
—NWSESLHEHY KA 900,000 13 900 1,000 A 100
—SA2 HelAlE S 450,000 *63] 2,700 3,000 A300
—MBTAIE S Xl 2,700,000 * 104 A 2,700 3,000 A300
206 X 2HI 5,400 6,000 AB00
01 M2l 5,400 6,000 AB00
Ol gz 3¢ 450,000 *65 2,700 3,000 A300
ONEZE JtAZE2 P2 45,0002 *407H 1,800 2,000 A200
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ARB EAE B 94,986 110,069 ~15,083
201 Lere gl 89,049 98,944 19,895
01 AFR22/H| 89,049 98,944 19,895
OZ222 % HA 89,049 98,944 19,895
—H(14HES) 18,083 27,978 19,895
206 M2 5,937 11,125 15,188
01 MEH 5,937 11,125 15,188
OF+2AZ(22227) 4,250 9,250 5,000
O+ 1,687 1,875 A 188
—108 100, 0008 98¢ A 900 1,000 A100
218 382 425 ~43

_12_




CY =

A

EN
X4 XH - A )
dEH: ALAT DD

AL

ES

&2l JIEt=SAIE 2t (ctel: &
SA - EE L SR(E) - MRAY - HAS 0l & 24 o1& o bz 2
—41 B 81,000& 55t A 405 450 A45
===t Y AH2tel 91,550 109,500 217,950
201 LetEIH| 1,350 11,500 210,150
02 22234l 1,350 11,500 210,150
OAl&EHI= Xl 1,350 11,500 A 10,150
—24=H ®7A2c 450,000& *3H & 1,350 1,500 A150
—of=E3AE SR 0 10,000 210,000
307 212t01& 52,200 58,000 A5,800
02 2ItBAEX 52,200 58,000 25,800
Odff=E=3tAd M8z 5,400 6,000 A600
Oltsd=E M3 46,800 52,000 5,200
401 A &HIL 2048 38,000 40,000 A 2,000
01 Al&H| 38,000 40,000 A2,000
Odll+=&=+3 A& ZH LM(XEZ, 8%) 28,500 30,000 A 1,500
CEoia HSAE B 9,500 10,000 A500
ot 2l 29,540 34,600 A5,060
=M 29 29,540 34,600 A5,060
TaXeE 22 27,540 32,600 25,060
201 LBt 3| 27,540 32,600 25,060
01 AtS 22l 0 2,000 22,000
Ogt=ZH| 0 2,000 A 2,000
02 2223l 27,540 30,600 23,060
O332= & AMA 25,740 28,600 A2,860
—2=XelE IS 2,070,000& x12& 24,840 27,600 A2,760
—=hXceld It EZ 225,000 *43] 900 1,000 A 100
OAE&HI XYl 450,000 & *43| 1,800 2,000 A 200
HY2IZH (BB ) 1,112,790 1,122,707 A9,917
JlE2ZHl 89,255 99,172 A9,917
23t (e Eg) 31,691 35,212 A 3,521
201 LBt A 12,791 14,212 AT,421
01 AtE22|Hl 12,791 14,212 AT,421
OZ2N2ZE Lot 9,540 10,600 A 1,060
ON2E =&l 3,251 3,612 A361
202 (4Hl 18,900 21,000 22,100
01 =LA bl 18,900 21,000 22,100
O2M2Z ol 20,0003 15«18 5,400 6,000 A 600
O=WHH©HI 20,0003 x5H 135 13,500 15,000 A 1,500
Jl2dHl (R &=sg) 21,384 23,760 A2,376
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CY =

A
T
N HES
2;]

= Olé |:||C> - (&9 HM
SAN-ZH-SA(FA) - NFAY - BES (il & OH J|E Hlw &2
202 04 21,384 23,760 N2,376
01 2o 21,384 23,760 N2,376
O=Uoid 20,000 x4 H »135 10,800 12,000 A 1,200
OMgIl BAXE 2&IIAF (4] 10,584 11,760 A1,176
Jl2ZH(#3XTE) 13,500 15,000 21,500
202 O] 13,500 15,000 A 1,500
01 2o 13,500 15,000 A 1,500
O=2Uot 20,0003 x5& 135 13,500 15,000 A 1,500
Jl2ad(asxg) 12,600 14,000 A1,400
202 O 12,600 14,000 A 1,400
01 2o 12,600 14,000 A 1,400
O=2uUot 20,0002 x5 126 12,600 14,000 A 1,400
l2Ztl(st+==g) 10,080 11,200 A1,120
202 O] 10,080 11,200 A1,120
01 2o 10,080 11,200 A1,120
O=U0d 20,0002 x4 x 126 10,080 11,200 A1,120
S (8 d=51) 5,096,701 10,181,405 A5,084,704
EHeHXIE 5,096,701 10,181,405 15,084,704
= SEHIH 8&3 2,463,088 6,792,893 A4,329,805
701 JIEtSIAHEES 2,463,088 6,792,893 N4,329,805
01 JIt3lHNES 2,463,088 6,792,893 24,329,805
Oa==E SEH d=3 2,463,088 6,792,893 4,329,805
SHINZANESEINH dES 2,633,613 3,388,512 AT754,899
701 DIt HEES 2,633,613 3,388,512 AT754,899
01 JIEISI AN ES 2,633,613 3,388,512 AT754,899
OdJII=ANE SEH HES 2,633,613 3,388,512 AT754,899

_14_




